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NEW QUESTION 1 

 

- (Exam Topic 1) 

A vSphere Administrator recently introduced a new shared storage solution for the ESXi hosts. Despite good device specifications, this 
new storage solution is not performing well. 

What are two VMware-recommended troubleshooting steps for fixing this? (Choose two.) 

A. Restart the vCenter Server. 

B. Check the VMware Hardware Compatibility List. 

C. Verify that vCenter Server is running the latest patched version. 

D. Verify that the drivers and firmware are at the recommended versions. 

E. Restart the Platform Services Controlle 

 

Answer: AE 

 

NEW QUESTION 2 

 

- (Exam Topic 1) 

A VMware vSphere 6.x Administrator sees the following output in esxtop: 

What does the %RDY column represent? 

A. CPU Cycle Wait Percentage 

B. CPU Utilization 

C. CPU Ready 
D. Idle CPU Percentage 

 

Answer: C 

 

Explanation: 

The percentage of time the world was ready to run. 

A world in a run queue is waiting for CPU scheduler to let it run on a PCPU. %RDY accounts the percentage of this time. So, it is always 
smaller than 100%. 

 

NEW QUESTION 3 

 

- (Exam Topic 2) 

An administrator receives a report that no real time statistics are available for a virtual machine in the 

vCenter Server inventory. Which two statements indicate likely causes of the problem? (Choose two.) 

A. The virtual machine is powered off. 

B. The host containing the virtual machine is disconnected from vCenter Server. 

C. There is insufficient real time data to display the information. 

D. The vCenter Server service is not runnin 

Answer: AB 

 

NEW QUESTION 4 

 

- (Exam Topic 2) 

When attempting to power on a Virtual Machine you observe the following error: 

Cannot open the disk '/vmfs/volumes/volume/vm/vm-000002.vmdk' or one of the snapshot disks it depends on. Which three actions 
will be the best solutions to address this problem? (Choose three.) 

A. Verify that the virtual machine's disk files are present. 

B. Investigate the host and virtual machine log files. 

C. Verify the vmdk descriptor files and if required, recreate them. 

D. Delete the disk file preventing the power on operation. 

E. Migrate or register the virtual machine to a different hos 
 
Answer: ABC 

 

NEW QUESTION 5 

 

- (Exam Topic 2) 

Which two actions are prerequisites to adding ESXi 6.x hosts to a vSphere Distributed Switch? (Choose two.) 

A. Verify that there is at least one Distributed Port Group on the Distributed Switch. 
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B. Verify that the Distributed Port Group have active uplinks configured in its teaming and failover policy. 

C. Verify that the Distributed Switch has been configured with a Network Profile. 

D. Verify that Network I/O control for Management Traffic is configured for the highest share valu 

 

Answer: AB 

 

NEW QUESTION 6 

 

- (Exam Topic 2) 

What are three valid disk configurations for the vSphere Data Protection 6.x Appliance? (Choose three.) 

A. 500GB 

B. 1TB 

C. 1.5TB 

D. 2TB 

E. 4TB 

 

Answer: ABD 

 

NEW QUESTION 7 

 

- (Exam Topic 2) 

How are ports scaled on vSphere Standard Switches (vSS)? 

A. Ports on a vSS can be dynamically scaled up and down. 

B. Ports on a vSS can only be statically scaled up or down. 

C. Ports on a vSS can only be dynamically scaled down. 
D. Ports on a vSS can only be dynamically scaled up. 

 

Answer: A 
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